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Note: All questions are compulsory. Carrying of mobile phone during examinations will be

treated as case of unfair means.
The question paper is divided into two sections. Section A is compulsory for alls
-different data files are to be used Jor Odd and Even roll number students. The j”le

@”@%&,‘ 253‘@_,

and Even roll numbered students are T3 — ODD.xIsx and T3 — EVEN. xlsx respecsnv )f’é

There are three active sheets Jor three different questions. Solve thehgu‘gsnons in: f}cel and write

the ouiput and important steps in your answer sheet.

SECTION

1. Write short notes on the following (50-100 words)
a} Analytics issues and capab111t1es
b) Measures of variability
¢) Components of predictive analyti

(3x3=9)

2. “Different types of data require dlfferg
of different strategies associated wi

4—&

%_.gfes of analysis”. Discuss the statement with the help
t data types.  (CO3) 4)

3. A company is contemplatmgﬂwhatﬁ‘ :*tO produce a new product. If it decides to produce, it must
either install a new dIVlSlOI’l %W”h clisneeds a cash outlay of Rs 4,00,000/- or work overtime with
overtime expenses of Re.J: 50:@2 0/- If the company decides to install a new division, it needs the
approval of Govt, anﬁ’ the campény feels that there is 70% chance of getting the approval. A market

survey has revealed thy lo_. ng facts: (CO%5) )

Magii ltude 'of Sales Probability Resulting Profit (in Rs lakhs)
igh =" 0.45 15
0.30 i
0.20 3
0.05 -5

ever, by resorting the overtime, the company will not be able in a position to meet the high
magnitude of sales. It will be able to satisfy upto the level of medium magnitude only, even if high
magnitude of sales results. Calculate optimum EMV and selected strategies by drawing decision tree.

SECTION B
4. As given in Sheet 1 of the data file T3 — Odd or T3 — Even (CO% (5)
5. As given in Sheet 2 of the data file T3 — Odd or T3 — Even (CO5) &)

6. As given in Sheet 3 of the data file T3 — Odd or T3 - Even (CO35) &)



